Math 200 - Test 4 Nov 29 2018

Question 1: Use the method of Lagrange multipliers to find the absolute maximum of f(x,y,z) = x+3y —z
on the sphere x? + y? + 22 = 4.
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Question 2: Determine the volume of the following solid:
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Question 3: The average value of the function f(x, y) over the region D is defined to be

fave = ﬁ// f(x,y)dA

where A(D) is the area of D. Determine the average value of f(x,y) = (y + 1) over the rectangle
=1[0,1] x [-1,1] .
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Question 4: Evaluate // y?cos (xy) dA where D is the triangular region in the first quadrant bounded by
y = X, y—ﬁ:‘andx=0.D 3
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Question 5: Evaluate /01 /1 e™*) dx dy by reversing the order of integration.
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Question 6: Express the following integral with the order of integration reversed: / / f(x,y)dydx
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Q 7: Eval /3 /m (x* +y%) S
uestion 7: Evaluate sin(x“+ y“)dydx. = \S\ , 2 ,
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Question 8: Determine the volume of the following solid:
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